-

%}“\e Cabquahr\d dhision problems of (09. !

!
e

! QT numexrdar 94 Qa‘eah’f*r dJnmm clenomin
/—i—\d‘bﬂfpamf\m Of lnol valde oyl he Oomhwo
J—

@ If cumexntey s jeds +han @kmmmmq;/vr .
the diffevence of lm value woill be r\e}e}n/ﬁ |

|
)| T

—

@ Cdeglate = (e

\S

- bg taking ;g
log (10 ) = 09 180 - (09 |S 122582
"\ ) X N | 41761
—12.2553 - 11714 07972 -
oy 180\ 1-1 10792 i
.\15 )
Andiley 10792]= 11200 | 199 -
+ | _
120 = 12.00 ‘ |1 O0 _
| 3 oY 12 -
\\‘F* -
—_ :
~ -
~_ 3
;_\\\ -




| | Date | T
| o] [ ]
(@ Glculate 1RO
| 154
- by iking 109
\ ~N N
log (5] | = |log 180 - 10915 -] ).195
| ) 2112593 - L1878 - Lig,
oy ( }S%O.) -[1.067S8 ! [OE]
antilog 1:0675 |=| 11-69 ERENTE
- T l
130 - 163 Cues
|
O cakoate (%‘2?
- Ry teking (69
J J =
kOgJ()_m) = (09 44l - (09237 2644y
=12 6bL4h -0 . 3747 - [2.3747
oy (435) | - 0-2697 0.2637
An:h'lof} 02697]=| .36 | [ 119593
| ir 2
= 227 =1 .96 1961
W Glalate 2314
| 146 ~
- B\d h\(\r\\«] Lo L
231y f -
\03 lH'G\\l = \Qj 13'“""“"6! ,Lj_é—i“//
™ =L 004D - L1647 e 641
oy (221 /
*‘J"'J* @]:) = Q\QQR 0'139;6 —



, 1109 01936 = | (.55 | [\sg
: T3 [t] 2
‘ — =161 -] [.591 |\ 533
3 Gladate . 744

| 33|
| = bé_‘\—ed{n’\j 09
- I ‘
- Log( 3ar) | = 0917683 (09 a3 | " 2835,
! - 3 -0 . 888y - 2.519¢% -1 2.5198%
ey (EE) [ -] 0.3656 0- 3656
! ANY6Y 03656 | =2 .32 0 1317
! — + 3

L. a3 =12:320 12320
. CGadlate : 139
| 89
L — h% taking ng

log (*3) | =lieg13q - 109 59 VY

,@k =12.1430 - |- 94 9 = 13494
{ 103 /Ti 101998 101936
L 4 - 1
_— Jb\mllm 01936 | = \s@ 1560
— T
— 6 RRYW)

i ~





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

